AP Macro

GDP Practice

During 2009, the government of Macronesia spent $200 million on goods and services as wells as $20 million on transfer payments, while collecting $150 million in taxes.  Households paid $150 in taxes, purchased goods and services worth $400 million and received $800 million in the form of wages, dividends, interest, and rent.  Firms had $100 million of investment spending, and the borrowed or had stock issues of $100 million from the financial markets.  Exports from this economy equaled $150 million, while imports to this economy equaled $50 million.

1. What is the GDP in 2009 for Macronesia?  

2. What is the disposable income in Macronesia in 2009?

3. Is the government running a balanced budget in 2009?  Explain your answer.

For each of the following, decide whether the item affects the calculation of GDP for Macro States in 2009.  State the reason for not counted or the GDP component in which it is counted.

4. A new house is constructed in Macro States during 2009.

5. Bruce sells his house in Macro States without the help of a realtor in January 2009.

6. Government purchases new textbooks for schools in Macro States during 2009.

7. Macro States sells 100,000 pounds of beef to Neverlandia during 2009.

8. Judy tutors Ellen’s children in exchange for Ellen driving the children’s carpool three days a week throughout 2009.

9. A candlemaker produces 500 candles during 2009 but only sells 200 during 2009, the other 300 candles are added to the candlemaker’s inventories.

Finlandia produces three goods:  tennis shoes, baskeballs, and lawn mowers.  The following table provides information about the prices and output for these three goods for the years 2004, 2005, 2006.

	Year
	P shoes
	Q of shoes
	P of bb
	Q of bb
	P of mower
	Q of mower

	2004
	$50
	100
	$10
	200
	$100
	10

	2005
	$52
	108
	$10
	205
	$100
	12

	2006
	$54
	115
	$10
	212
	$110
	12


10. Using the table calculate the following.

a. Nominal GDP in 2004

b. Nominal GDP in 2005

c. Nominal GDP in 2006

To calculate the percentage change from one year to the next use the formula



(GDP in year 2 – GDP in year 1)  X 100 = % ∆




GDP in year 1

11. What was the percentage change in nominal GDP from 2004 to 2005?

12. What was the percentage change in nominal GDP from 2005 to 2006?

13. Using 2004 as a base year, calculate the following.

a. Real GDP in 2004

b. Real GDP in 2005

c. Real GDP in 2006

14. What was the percentage change in real GDP from 2004 to 2005?

15. What was the percentage change in real GDP from 2005 to 2006?

To calculate the GDP deflator for a given year, the ratio of nominal GDP to real GDP in that year times 100.  

Nominal GDP  X 100 = GDP deflator



Real GDP

16.  Using 2004 as a base year, calculate the following.

a. GDP deflator in 2004

b. GDP deflator in 2005

c. GDP deflator in 2006

17. In Scharfland the GDP deflator for 2006 is 105, with 2005 the base year.  Real GDP equals $210, what does nominal GDP equal in 2006?

18. Explain the distinction between real and nominal variables.

19. From 1975-2003, the economic growth rate in China’s is 7.9%, France is 5.4%, and Argentina is 0.1%.  Using the rule of 70, calculate how long it will take for each country to double its’ economy.

